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SET-B
Reasoning Ability, Quantitative Aptitude, Computer Knowledge & General Awareness
How wmany such digrts are dere in the mumber SHE60T2 cuch of which s wa far wiiy from i beglnning of B sl
an when the Sigits we resrmnged in descending ordes within the number 7
A Uine B, Thn
. Three 2. More thin three

i snaore W Tsasy o G abh TEEh arp B g - e maE W e e o qare o ot
A im B @

C. = B = i sy

Sitn was coumbng down from 32, Mita wus counting starting from | and she wan calling out anly the add nimben
What comenin nusiber will they cnll cut-nt the same tume if they were calhng out gi-the same speed 7
AND B 21

g . Mone of these
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Ao B, a1
C.22 D, autfss © =0

There are five different houses, A to E, in s row. A s (o the dght of B end Bis o the loft of Cund right of A, B i o the
right of [, Which of the houses is in the middee 7

AA BB
CD Do

A e e wYooe ol d
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A B. B
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Thre position af haw many Letiers m the wiord BRAKES remain unchanged when they are krmnged in
alphabetical order T

A One B Tola
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20, Threr of it following four ave al) hemon
- T LA i
A Hm;I cerimin wiy and hemee from o Eroup, Whach one dosi Bt LT Ne—
C: 28 £ 51
Pl e 0 /oo f i T § i
g T F;'I-'L::i::' e e g 4 g = ol a# e
. 28 D:51
2T, Find thut pair of numbers winct
gl et i m;l: ;ci;t;ﬂ to the other three paire of munbers due 10 |sck of COMETION oty
C. 5769 B 73,61
ra B SR R T R e T e em—— fsr
Al 4759 B 4129
C_57.69 0. 73.61
22 Which number is wrong in-the following series 7
1236, 1346, 3456, 4566, 5685
Al 1336 B. 2456
4566 D. 3686

Foyeeitaftan il ¥ w-ell o e &

1236, 2346, TA56, 4566, S6RE

A 1236 B 3456
4566 D S68h

Dhirection : Foroext 3 Questions,
fneach of thest questions a sequenca is piven. Choose the succeed ing torm of the acguence from the four aliematives givenn
each guention
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4, PRESENT, RESENT, RESEN, ESEN

A EEN B SEM

C ESH 3 None of theae
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A EEN B, SEN
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A 12133455 B TL21691455 C 1131631455 0. 2121601456
Premflen % 4 sha ALPINE = #te o mmm 17
A 12133484 B 121691455 C: 121691456 B, 211169) 455
28 Which will come next in the followmg series
KUZ MOX. OIV.QET
A SUR B sAQ . RAT D. SAKR
ol e A on Al ey
KUE, MOX. OTV, DET
A SUR B. SAQ L. RAT 0. SAR
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ahove two stulements T ) _
A Hutyepriya is hosest B Kanyapriya is some e dishonest
€. Leaders are generally diglones D, Sirimed leadiry ure hondst
T T TR
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A5 B0 s f is 6, then how stiamy People Wiee e
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WER 3 W @ g 0 e 3 D o d et B o U (ho odd
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A PLPAE B RAQRCT
A, PLPAR B RAGRET E ::-'::'-r B Mo
35 A YBUR B, PERCOP ¢ vm'h g
A YHLR B, PEACOP !.'-]R ] L
Disection - For next 3 Questions, F €. VRIELS B LG
EE{.EU that .id‘ﬂnﬁ“ﬁ“ﬂm of colours mﬁ by thie fallowirg relatinng
S b i =CYAN
o + = t
RED + GREEN + BLUE -%ﬂ{%ﬂ‘m
Then answer the followine questions
ferdwe = A b ® gy
R g -
m'ﬂt FIﬁgImmmaﬁgﬁa‘n-mmma,
L B = i
e R ::ﬂﬁuﬁm
s Freiaian vl & ome diftne
36, Which of the following atstoments is true
ABLUE +CYAN = 'WHITH B. MAGENTA +GREEN = WHITE
COYELLOW +CVAN = RED D) None of the ibave
Prssiedae & 2 w9 m w27
A e + Rl = R B vedt Tard o+ = ¥
¢ + BRE = W@ poE e
37 Ome of the following stilements may be true. Which one it i 7
A fuis possibie to get Black Colodr by additive mixing of other colturs.
B. RED+REDwWill give s acolour which is more red,
i ﬂrundmhmmmnrhmmww wi: may be abie w get muny colours
(B Wone of the ahave
- Prefann @l A & 1w e &) 9E o A7
A TE §99 & 6 aar o1 ot fa e G @ amers e e
B AT T G m) e B swrE wrer e B
¢ wew ol & s A ot S e a9 g e e 8
D, gEn i |
ﬂt%&mammm“hﬂ"
gL mm RED = CYAN B WHITE - (YELLOW - GREEN) = MAGENTA
ﬂw GREEN = MAGENTA - BLUE I3 None of the absove:
erfate A 9 o e s &g o & _
& T —~ A = ERri ﬁﬁ,m_m}ztﬂh‘mw

¢ @@ — w0 = aed e ~ A uwi*n*ﬂi#ﬂl

R SR TR R R A

fAiten

¥g,

o am ivn Fov e
Ewiﬁlﬂi ﬁ WHW'%‘%H}‘U?T%*“,nﬂq;\nc‘::mimluw
a‘:mill#“ ﬁ'
.= mn,::II|I im il 3254 1 2RI
A hﬂ €. 284 D, JEs
A ol il . .
3 '-"-m,j-' {1 £ 1213204 0. Nane of these
A o wha i oA A <8 s o5 i,
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fiTven behow t anwer theas LITCETN

There lived » réih Srmer whio befriee s death, divided all hiv properry ammrng wll him g e
of gobd har, silver bars ind cush, The gald biira e warth R 0005 ench und the slves
The proprrey wis divided a fotiows:

First duughter received 20% af the il feuperty in the form uf
rwciwdmﬂthelnulmuiniqptwutyjntb:fumnfm
diigshiens received oqual number ol Rodd nad lver bars warh
25 (00 - mare thinthe eakhreceived by previous dengher,

Ak et f

el o T A o)l el i I
_mﬂmmﬁﬂaﬂ##wmmwﬂe A e A de i) ity o o
N 000 Dl ) o g ot e 000y woben ol | gl gor e Pkt

old burs aod Bs 250000, i cuvh. The seeisnd
tver Bk ind Ha SO0000- qps

R A g a9 'Y wefi gE e a5 000 b B v ol ) Sl A e 20 WY R
5 9 e (v e Y ey R st 2 e st A o il ol = A e Tl el i e 20

Wit wis the total value of the property 7

A Bs. 1) lakhy B. Rs. 20 takhs
€ Re $ Inkhy 12, 60 lakhs
@ e e 7
A w6 B. 20 e
C. = o W, [, no
|Wmm'wm there inall 7
AS B. 6
ca D.4
it e o W] o 7
e B
c 3 O.a
Hiow iy gold bars wero thers in all 7
g S
a8 B.16
i A o 7
Ao n
[ - 3 i
Fow rrinny silver hary did the dhird dawghter receive !
A2 B
€ 0,25
a0 A8 2 00 i R ol ey A 7
Cam B8
) o
j B I - !"'\ | .H e E ... 1?
Wﬂhﬂ socud d & :““u_ e
e b
s m A
Al . F= I i ! ]
:Eﬁ' e S LN

. The PROReRty wan b thee firm
bars were winth ja OO ity

apighter
b Hach of the Scseoding
200 of the tial PRI Property and ceh wivich wis fis

WL it} ol ¥ v w0 o ol &
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il T first electranic digital eomputer was conceiy el by
A. Charles Habbhage . Toseph h-'[an-;--;-Jm:q.,um
C. John' V. Atansolf D. Dr: fohn Manchly
HEt G R e e g -
A, apdl B B. s We Saad
C.- R W, aster=ten D, ol e &

6L Whint iz an email sttochment 7
A A recerpt sent by the recipient.
B. A separate document sent along with the omaoil

C. A mulicints parasite that foeds an the medsage and destrovs the consent,
Do ATiss of CC - and BCC | recipicnts,

§-¥ Herr w27

A, ananm gew Sl i e

B. it wiw o v 3= & dan A mami

C. o el croafielt R EE T s o B o B iy e e Ry
D, amars, @ CCg BCC: =

i3, The fiest structured propgramming laogiage is
A Basic
B. Fortrean
C. Pascal
B PLA

MR TR TR A
A, aftim

H. wiga

Lo

[, e

4. Hecommere is wn upplicntien of
A LAN '
B WAN
€ Irmeenet,
D, Intranct

d-afbid g ol @
A LAM
B, WAN
C. §eie
D, e

&5, Which of the fisllowing is u singhe integrated ireuit ?
AP

Prclsefban @ 4 oy Ry ffiinka sl 7
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o, Chioese, Frenc, Hin, R, Spaish . Aruic,Chivene, English, Do, Freoeh, R
<, English, French, Japancse, Russian. Spanish 1), Arsbic, Chinese, English, French, Russian, Sparidh
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il _
"\»,—f' "
:"r_-lu: Which of the fallowing swand winning filmy had oo dixlogues ?
Y __, AL MOt B “Dami ©. "Pushpak®
R ) ',.‘ mﬁmmhammm "
k At B e o o
|l Y 4
 The Indian folk dance “Cheraw"” Beraw” i alwo known .!
=1 1fﬂ.“m;mw-m" n%m,f
v e FCujmt
S u&h?awumaimmn

'ﬁ".tl“ B, 3w e
i ﬂm#ﬁ#ﬂw D, v w1 e
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Mutiati Insumnee Company Limited wis insttpered i 1606
3
Stoterment oo, 2 . Netenal nsimnes Company botame & subsidiery of General Insamance Corpommtiog

1 rl r I
Indin (GHTY in 1972 when Genersl Insurance Business Wationalizaton Act wis passed

Statement no. 3 Natioval Insuranee Company hss been dolinked from alc
an 1 Govl of India umidderinking.
A Only simtemient mimber | 15 someet
C. Sustement number | und 3 ire cumrest

i August 2002 ind at prosens in [FpErasg

B. Only matemen namber 3 & eiorrect
D, AIL the sthonv statementy are coerect
m.
FormafesRtom wel o 8 e on e g Temeit i oy w5
W 5T e el Bdike ro0n e g
- W A ) e A ane g edi aff il (IC) B e af o e S s ) vee s

b M |
e 3 e el e et o SR I e T o AR e oot g o e 4 el e
A g warr | wen B B. s e o b
C. ks w1 g 8w B .oy o
Darection ;

Find aut which of the following dutements idfiee inormrect _
Staternentno, b Mutiona] Insimmee meeived Best Auto Tasurer 2010-10 Power Asia Pacific Amand
Statement no, 2 | Nugonsl lnsunines in the second lafgest non-life msurer i [ndia
Sttement no. 3 ¢ Netionil Iasumnoe réceivisd CNBC AWAAZ award in 2011
A Stutément no, | 0, Swirment no 2
C. Stmioment no. 3 1. Smtement pumhens | snd 3

Pl
fdnian 8 4 af ww s e 03
) 'II";I:H :;nw {1#” aﬁz grediven ame ~ A e it SRR e T
ﬂﬂ'ﬂ:h‘ﬂiﬁ‘ﬂﬂ"ﬂﬂ £ gl il 0y i R deacn B
st ST e gon. § CNBC AWAAZ deear i Tk b

AL o Bt i 2
ﬂ.m;}.: [, W4 N3
Which 'MWMWMPMWn CoVEr 10 EAP0
Léﬁf;m T B NABARD 0. Sibl D ROA
mtim—ﬂMl!ﬂ-Hﬁﬂxmhﬁnﬂimri-umﬂﬂ'? :
] : - D ROA
A, ECGE: B NABARD €. Sl
Mﬂ-ﬂ_m-u&m‘ﬂ#? o S
A Sohinl B Bhalmvi ¢ Kalshati
. it TEy HEF; ¢ e (RN
M. IR B
"Ouersicn” wis puinied by 2 D Shes

A Toonando de Vine B Micheluak
> - Mm-lmn.m“. (i} e
pupema R o
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| GENERALIST
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? | -Mmafm next | Question: Each question is followed by two statements |
- Choose A: Ifthe question can beanswered by using one of the statements

and 11 Answer the questions usin g the following

T, W alone. ' Sty ,

: 4 _ mﬂ B: Ifthe question can be answered by using either of the statements ulﬂn:l T — -
iy -':‘3,; t’ham (' Ifthe question can be answered by using both the statements to gether. but cannot be answered with
5 ‘ MD If'the question cannot be answered even by using both the Hlanr:lneut:{tuuml \er,

S M1w$ (1 R - uelie wes & 4 ) v 1R | E P See & s ugdl B e i
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any of the statements alone.

ISl LT £

.

- Q86.  Avegetable vendorsold 100kg of potatoes in one day. What is the profit earned by him®
Statement I: He bought the potatoes at Rs. & perkg.
Statement I1: 75% of the potatoes were sold at a profit of Rs, 2 per kg and the remainin gwere sold at cost price

0 sall el 4 Yab <1 100 b 70 SH1e] 41 1 39 Fbetar efr gaun?
@UF | SU] b 8 wafda el wdar|
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Directions for next 2 Question: Study the data below and answer the questions that follow:
A 2 ueHl & fou fAdy - ?ﬁﬂfﬁqmaﬁﬁﬁiﬁw-@hmam.nﬁ-ﬁﬁwﬁ—
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Directions for next 4 Question: Study the data below and answer the questions that follow
: "W,

Country opulation density o — i
Germany Population
¥ ;:51;-“31 8,22,17,800
United Kingdom P 0:96,01,002
ltaly i,;hgig 6,05.87 000
Spain - Al 3,97,15,625
pa O 88 5,05,782 4,67,77375
Population density 1s in persons per sq. km, area 1S in per sq. km. ——
IR 4 vE @ Ry Ay ﬁ%ﬁqmmﬁaﬁﬁéﬂ@vﬁﬁwuﬁt%m%

| <ovem g1 | R ST

233 3,57,021 8,22.17 800

111 5,47,030 6,36,01,002

l 244 | 2,44,820 6,08,87,000

192 _ 3,01,230 5,97,15,625

88 5,05,782 4.67.77375

DETE TG R A T 5

Q 91. 1f99% of the people are literate in both Germany and France, what is the total number of le who are literate in G
i te
France taken together (rounded off to the closest whole value)? i iferate I Germany and

A. 144360614 B. 144330414 C. 144630616 D. 144660555

ﬂﬁ‘\’iﬂ*ﬂa-h‘iﬂiiﬂﬂ”Fﬁﬁmuﬁm%ﬁ?ﬁiﬂﬁ*-ﬁaﬁi'tﬁiﬂﬂﬁfl’-’ri[ﬁmi&aﬁwﬁﬁﬁlﬁa!ﬁwwmﬁwﬁmmﬂﬂ}?
A 144380814 B 144330414 C 144830618 D 144860555

Q92. Over the next five years, if the population of Spain increases by 10%, what will be the increase in population density?

A. 62% B. 7.4% C. 8% D. 8.6%
Ao Uin ool § U} W9 S e 10 ulRdna 4é Iy o) A Y- § adl gfg €N?
A 62% B 7.4% C 8% D 8.6%
Q93. What is the ratio of the population of United Kingdom to the total population of Europe (as percentage)? Consider the total population
of Europe to be 84,20,33,572.
A. 7.0% B. 7.2% C. 7.4% D. 7.6%

Wﬁaiﬁmuﬁmﬂmmqﬂqﬂwmﬁmmtmﬂ?wﬁ&@qﬁa&rﬁmm.z&n.mz!:
A 7.0% B 7.2% C 74% D 7.6%

populati ' ?
YR | 4 wih rate of lation was 0.09%, what was the population of Italy one year ago
- A.ﬂwsg;?ss? B. 59661737 C. 59661900 D. 59661929

A A e af gge ged we o a7
r mm:ﬁﬁ“m* B 59861737 C 59661900 D 59681929

Question: lon i . Ans thuquuﬁumushagthcfdlnwingm-;ﬁm:
Directions | :on: Bach question is followed by two statements I and I1. Answer
wlf?ﬁ%mhem:ﬁbyuﬁngnmuf the ntatnmuntulunu,butnu!mththcm“tm:mtalm.

" Choose B: Ifthe question answered by using either of the statements alone. -

| M . gmm ; ::Wg'mm&wmlmtﬂgnther,butcmmutbemwadwiﬂ:mynfthnmmum
5 Mbﬂ‘ﬁtm cannot be answered even by using both the statements together.

.ﬁtmih'm—mmﬁmﬁmimtlﬂﬁwﬁﬂmmﬁaﬁmm:ﬁraﬁwm R
A--‘gﬁ—-iﬁmmmwﬂvﬂt##m“mmmmmﬂmﬁmmw GLUIE]
ﬂﬂ—ﬂmmmﬂiﬁ&m‘hﬁﬂmmmmmﬁmwm Srghan e, A
Cﬂ—mmﬂmwmmwmwmﬂmmmﬁmm AL ERLIL

Dv-ﬁ'mumﬂﬂ:ﬂmmmmmwmﬁnmm
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Directions : Read the passage given below ¢ aretully and answer th 1 ety
passage ; * Questions 121, that foflow REERILINE 10 tha comems of the

_.t_l_‘_ﬂl‘lm-luthentic wiorks on Eufnpum. alchimy are
Albertus Magaus. In their troatises they maintained th hlloicmher 5t
MECUry were Temoved by various degrees of imperke ekl siich s lead ard

ction from gold. The
i - They further asse e X
transmutedtogold . This elusive substince was referred taasthe “philosophers sane Sy ried that these base motals coiuld ke

thase of th Ervplis

h mark
at gald Roger Bacon and 1he Gorman o

Wat the perfect metal wniel that inferior

Mast of ﬂ'ﬂﬂlﬂt alchemists were artisars whe wers s

urmmmwmm the progress of their wark. The term san waas wsied For gold, moon for sibver

ﬁ:’-ﬂ I‘I"I!tll!.'l'l‘lfr comvention of substituting symbolic oy Em;p e ,h. f, :ﬂd the five known planets far
5:Barch for the perfect metal with the struggle of mankind for the perfection of -h;_- ;:II-::N e

; ; sy d phiosaphers began to uie th

artisan i-t!ﬂ'ﬂ!-lﬂ-ﬂ:l? *‘H‘Fﬁt*_iﬂi literature that they produced. Thus, by thee fourteenth centiiry, alchermy head doveloped tuen distines
groups of mlw = the laboratary alchemist and the literary alchemist. Both groups of alchemists run:-r.‘.m-. 1o .wrr'-'
throughout the histery of alchemy, but of course, it was the Kterary alchemist who was most kely to producs s w*-‘.!.l . I*--:-r..-.J.
therefore, msch of what is krown about thescience of alchemyis durived from philosophers rather than from the 2 hermise
laboredin laboratorios,

tomed to keeping trade seerety and often resarted (o eryptic

ol

121 (1) What is the suthor's main point?

Thiere were both laboratory and literary alchemists

The uh-'l-nrws_lhi:r__'s stone was essential to alchemy.

Roger Bacon and 5t. Albertus Magnus wrote aboat alchemy.

Base metals can be transmuted to goid by Bending them witha substance more perfect than gold

oenp>

-5 121, (2) The word “suthentic” (n line | could be replaced with
= A *valyabie® B “gentineg” € “Complete” 0. “comprehensible”

121. (3} Roger Bacan and St. Albertus Magnus had the same
A, nationality 8. premise € profession D, Education

121 (4) What was the "philpsopher's stong * 7 ;
B Anelement that was niver found

= A Lead that wes mived with goid o
= € Another name for alchery D A base metal +
121,45} Whe were the first alchemists 7
A =T B, Wiritiars . Artivans [ Linguists
. 3+ 5 = 1T marks
122, Pre'chs ; Orice Wpoi'a tirmie, there wirs 3 misn who wis greatly
SR 1 tsach s by setting an example 1o others 2 mE Rt ot e
The only sacslactant W0 E0 - eiterinwhich mamkind jdulec We was gt o sobery BRIl
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much amang hits companiont in theligtie vilage ¥ sk o i A
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